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CHEMISTRY

JEE MAIN AND ADVANCED

ALDEHYDES, KETONES AND CARBOXYLIC ACIDS

1. How can you perform the following conversions?
(i) But-2-ene to Ethanol.

(ii) Cyclohexanol to Cyclohexanone

(iii) Butyne to Butan-2-one

(iv) p-Nitrotuluene to p-Nitrobenzaldehyde

(iv) Pent-3-en-2-ol to Pent-3-en-2-one

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rdMEI0x7nknL
https://dl.doubtnut.com/l/_gfl93gXUBMO8

2. Write the mechanism for following conversion:

O

= . I
@(,—CH HOM @C-C‘Ha

o Watch Video Solution

3. Complete the following reactions:

CH;
| alcKO (0]
() CH; — C — CH,CH; “2%% 4 2 L (B10)
| A Zn/H20
Cl

I alc i) SnCly ) HCL
(i) CHsCH — CH, "X 4 (Dot

7
(ii) HxO.OH . H205


https://dl.doubtnut.com/l/_gfl93gXUBMO8
https://dl.doubtnut.com/l/_YqMoJgemZ88r

HCIL / AlCl, (i) CsHg A
(i) HCN >y A > B
(i) (H.0) /H~

CH,

CrO,Cl,

> X.

LN |
(iv) 3

o Watch Video Solution

4. How would you do the following conversions in noit more than two
steps?

(i) Propanone to Propene

(ii) Propanal to Butaonone

(iii) Ethanol to 3-Hydroxybutanol

(iv) Benzaldehyde to Benzophenone


https://dl.doubtnut.com/l/_YqMoJgemZ88r
https://dl.doubtnut.com/l/_afS6SvAHBnG7

(v) Benzaldehyde to a-Hydroxyphenylacetic acid

(vi) Benzaldehyde to 3-Phenylpropan -1-ol

o Watch Video Solution

5. An organic compound A with molecular formula CqH;(O gives positive
DNP and iodoform tests. It does not reduce. Tollen's reagent or Fehling
reagent and does not decolourless bromine water or Bayer's reagent. On
drastic oxidation with chronic acid, compound A gives a carboxylic acid
having molecular formula C7;HgO,. Deduce the structur eof organic

compound A and write all the chemical reactions involved.

o Watch Video Solution

6. Identify A-D in the following reactions .

CH v ()0
@ (i) ZW/H,0 ~ A+B

(1)A+B%C+H2o



https://dl.doubtnut.com/l/_afS6SvAHBnG7
https://dl.doubtnut.com/l/_NcdXDmjvW3uF
https://dl.doubtnut.com/l/_8DUQzmKzQUE4

(2) C dilNaOH D+ A

(1) ABE L C 1 H,0

. R L1 R
(Z) C- (111 ZnlH,0 D+A

H/Pt (DH

A\ 4

OH

o Watch Video Solution

7. An unknown aldehyde A on reaction with alkali gives a (- hydroxy
aldehyd, which loses water to form an unsaturated aldehyde, But-2-enal.
Another aldehyde 'B' disproporationation reaction in the presence of
cong, alkali to form products C and D. C is an aryl alcohol wit the formula (
CyHg)

(1) Identify A and B.

(ii) Write the sequence of reactions involved.

(iii) Name the product, when B reacts with Zn amalgam and hydrochloric

acid.


https://dl.doubtnut.com/l/_8DUQzmKzQUE4
https://dl.doubtnut.com/l/_ixOxA4X4A0Gn

° Watch Video Solution

8. Complete the following reactions and identify A, B and C,

Pd / BaSO,

(i) A + Hy(9) ——— (CH;),CH — CHO
H;C (0]
]
(i) CHy ~ €' = C ~ CHy = NaOI - B +C
CH;

° Watch Video Solution



https://dl.doubtnut.com/l/_ixOxA4X4A0Gn
https://dl.doubtnut.com/l/_NlKOgRsVUPa5

9. Predict the main products in the following reactions:

+ CH,COCH, - 215

/

?

o} |
» o “OH
) CHO, [>—C—cH,—Ls g
~_CHO
i NHNHCONH, -
~__CHO
: dil. NaOH '
(iv) @/ + CH,CH,CHO ~=—=—>D
O
[AGINH)]

O
y
o

o Watch Video Solution

10. How can you do the following- conversion?
(a) Pentain-1-ol to Pentanoic acid

(b) Propanal to Propanoic acid ( C) 1-Phenylethanol to 3-Phenylpropanoic


https://dl.doubtnut.com/l/_tPAdrg7XTHEO
https://dl.doubtnut.com/l/_o1nm4pHBJkf3

acid
( d) Cyclopentene to Pentaanedioic acid

( e) 4-Nitrochlorobenzene to 4-Nitrobenzoic acid

CH,0H CH,CH,OH
to

(f)

o Watch Video Solution

11. Arrange the following compounds in order of decreasing acidic

strength.
COOH COOH COOH .
0, X
O] (O 1O
. NO,

COOH  COOH COOH COOH

v o ore,

o Watch Video Solution



https://dl.doubtnut.com/l/_o1nm4pHBJkf3
https://dl.doubtnut.com/l/_PrzvWVxOhDOU
https://dl.doubtnut.com/l/_RxwSFVy22dvY

12. Complete the following reactions and form the products.

CH.CH, im0
i) 4
( @/ KOH, A

| ~COOCH, 50,
(b) | A

COOH

CHO NaCN
(c) HCI
COOH

A4

o Watch Video Solution

13. An organic compound A, CsHg on reacting with dil. H3SO4 and
HgS0,4 gives a compound 'B-which can also be obtained from reaction
of benzene with acid chloride in the presents of anh. AICl3 Compound B
when reacted with iodine and ag. NaOH yields C and a yellow compound

D. Identify A to D with proper justification.

| o Watch Video Solution


https://dl.doubtnut.com/l/_RxwSFVy22dvY
https://dl.doubtnut.com/l/_K1YEkM8QUe4D

14. How would you perform the following conversions?
(i) Ethanol to 2-Hydroxybut-3-enoic acid

(ii) Acetaldehyde to Butan-1-ol

(iii) Acetophenone to 2- Phenylbutan-2-ol

(iv) Ethanol to 3-Hydroxybutanol

(v) Ethanol to Acetone

o Watch Video Solution

15. Give the structure of the compounds in the following reactions

Cr03.2CsHsN CH30H KMnO,/OH -
CH, = CH — CH,OH —— "5 [A] =25 [B] ——————  [C]
CHQClz I{+ C5H1002 (Cold,dﬂ) (05H1204)

o Watch Video Solution

16. Give the reasons for the following:

(i) lodoform is prepared by reacting acetone with hypoiodite and not with


https://dl.doubtnut.com/l/_K1YEkM8QUe4D
https://dl.doubtnut.com/l/_Ampft3Xwqm2e
https://dl.doubtnut.com/l/_3xUIbKSv3Yyb
https://dl.doubtnut.com/l/_jreuQn10a0dP

idodine. Explain.
(i) Halogen acids readily combine with alkene to form addition products

but fail to react with carbonyl compounds. Discuss.

° Watch Video Solution

17. 1denitfy compounds A to E in the following reactions.

LiAlHy
A—— B+ C
Ether

pcc

B— D
conc. KOH
D—F+ B
F
E— (C6H5COO)2O

C - (CyH;,COOC Hy)
NaOH

° Watch Video Solution

18. Suggest a suitable oxidising agent for the given conversion.

(CH;),C = CH — COCH; — (CH;),C = CHCOOH

° Watch Video Solution



https://dl.doubtnut.com/l/_jreuQn10a0dP
https://dl.doubtnut.com/l/_cPa5LzazxZJ5
https://dl.doubtnut.com/l/_dkwfK4cWBxCY

19. An ester ‘A’ (CyHgO3) on treatment with excess methyl magnesium
chloride followed on acidification gives an alcohol 'B' as the sole organic
product. Alochol 'B' as the organic product. Alcohol 'B' on oxidation with
NaOCl followed by acidification gives acetic acid. Deduce structure of A

and B. Show the reactions involved.

° Watch Video Solution

20. Write mechanism for decarboxylation of S-keto acids.

° Watch Video Solution

21. Acid-catalyzed mechanism of given aldol reaction.

o (0] CH;

I | |
9CH; — C — CHy; 24 CH, — C — CH = C — CH; + H,O

° Watch Video Solution



https://dl.doubtnut.com/l/_dkwfK4cWBxCY
https://dl.doubtnut.com/l/_n5mxEwY12wVs
https://dl.doubtnut.com/l/_tF0pIP1QHJWP
https://dl.doubtnut.com/l/_vmsoWKjEcMb0
https://dl.doubtnut.com/l/_APQwDrs3bF8j

22. Propose mechanism of given reaction.

O O O

/ﬂ\ C,H,ONa/C,H,OH /U\)\

2 OFt OEt

o Watch Video Solution

23.
Which type of reaction is use in above transformation step (A) and (B).

The structure of P and Q are?

° Watch Video Solution

24.In the following reaction sequence the correct structures of A,B and C

are


https://dl.doubtnut.com/l/_APQwDrs3bF8j
https://dl.doubtnut.com/l/_2JwZe7NdWThT
https://dl.doubtnut.com/l/_DLytBs46oCsJ

° Watch Video Solution

lllustrations

1. Predict the major products of the following reactions:

N 70 Hg/HC
‘ | O >
S
H.CO »
(i) NH, >
(i (i) (CH,);COK / (CH,),80
H,CO :

O

(82
(1) HS—CH,—CH,—CH,—SH/ HA,

(iii)

(i) Raney-Ni

° Watch Video Solution



https://dl.doubtnut.com/l/_DLytBs46oCsJ
https://dl.doubtnut.com/l/_bA7T324sDacZ
https://dl.doubtnut.com/l/_DJJ8xiKi2wX5

2. Write the structure of all possible products of reaction of LiAID;,.

Followed by H30 ™" with
0O O

@(,3:0 (ii) th—é\)—g—Ph '
H o

° Watch Video Solution

3. Prepare
(a) Aniline from Benzoic acid.

(b) Ethyl amine from propane nitrile.

° Watch Video Solution

Assignment (Section A Competition Level Questions)

1. The general formula of both aldehyde & ketone is


https://dl.doubtnut.com/l/_DJJ8xiKi2wX5
https://dl.doubtnut.com/l/_PuGcVjYKbUdd
https://dl.doubtnut.com/l/_GfnS6NDGN5q4

A.C,Hy, 20

B. C, H,,0

C.C,Hy, -0

D.CpHp 4O

Answer: B

o Watch Video Solution

2. The IUPAC name of following structure is

CHj;

|
CH; -CH - C -CH, - CH,OH

|

@)
A. 1-Hydroxy-4-methylpentan-3-one
B. 2-Methyl-5-hydroxy-3-pentanone
C. 4-Methyl-3-oxo-1-pentanol

D. Hexanol-1-one-3


https://dl.doubtnut.com/l/_GfnS6NDGN5q4
https://dl.doubtnut.com/l/_vtHm9rlXepCS

Answer: A

° Watch Video Solution

3.1UPAC name of (C)CI3CHO is

A. Chloral
B. Trichloro acetaldehyde
C.11,1- Trichloroethanol

D. 2,2,2- trichloroethanol

Answer: D

° Watch Video Solution

4. Which of the following is mixed ketone?

A. Pentanone


https://dl.doubtnut.com/l/_vtHm9rlXepCS
https://dl.doubtnut.com/l/_bgOypepcXCxG
https://dl.doubtnut.com/l/_riXS7CX7eXJS

B. Acetophenone

C.Benzaphenone

D. Butanone

Answer: B

° Watch Video Solution

5. The reaction of acetaldehyde with HCN followed by hydrolysis gives a

product which exhibits

A. Optical isomerism

B. Geometrical isomerism

C. Metamerism

D. Tautomerism

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_riXS7CX7eXJS
https://dl.doubtnut.com/l/_neHKjQSIEpYT

6. Which factors will increase the reactivity of
group?
(i) Presence of a group with positive inductive effect.
(ii) Presence of a group with (-ve) inductive effect
(iii) Presence of large alkyl group.
A. Only (i)
B. Only (ii)

C. Both (i) and (iii)

D. Both (ii) and (iii)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_neHKjQSIEpYT
https://dl.doubtnut.com/l/_OqKtscQd9HNX

7. Which of the following is optically active?

A. Ethylene glycol

B. Oxalic acid

C. Glycerol

D. Tartaric acid

Answer: D

o Watch Video Solution

8. identify the wrong statement from the following:

A. Salicylic acid is a monobasic acid

B. Methyl salicylate is an ester

C.Salicylic acid gives violte colour with neutral ferric chloride as well

as brisk effervescence with sodium bicarbonate


https://dl.doubtnut.com/l/_OqKtscQd9HNX
https://dl.doubtnut.com/l/_3VkOY0CmQVYt
https://dl.doubtnut.com/l/_Dd5WmIZldhDa

D. Methyl salicylate does not occur in natural oils.

Answer: D

° Watch Video Solution

9. The general formula of C,, H,,,O- could be for open chain

A. Diketones

B. Carboxylic acid

C. Diols

D. Dialdehyde

Answer: B

o Watch Video Solution

10. The IUPAC name of the phthalic acid-


https://dl.doubtnut.com/l/_Dd5WmIZldhDa
https://dl.doubtnut.com/l/_pq0N9LHqFL9o
https://dl.doubtnut.com/l/_lzQbgkJrjG0c

A. Benzene-1,2-dicarboxylic acid

B. Benzene-14-dioic acid

C. Cyclo-1,3,5-trien-1,2-diolic acid

D. Benzene-1,3-dicarboxylic acid

Answer: A

o Watch Video Solution

11. In the following reacton, product P is

o

1
R-C-cl—™ ,p
Pd— BaSO,

A. RCH,OH

B. RCOOH

C.RCHO

D. RCH,

Answer: C


https://dl.doubtnut.com/l/_lzQbgkJrjG0c
https://dl.doubtnut.com/l/_MkhbbtKgbL1k

° Watch Video Solution

12. Dry distillation of calcium acetate gives :

A. Acetaldehyde
B. Ethane
C. Acetic acid

D. Acetone

Answer: D

° Watch Video Solution

R
13.Chs — CHy — C = CH —— Butanone,Ris
H3;09

A .Hg™?
B. KMnO4

C. KClO;


https://dl.doubtnut.com/l/_MkhbbtKgbL1k
https://dl.doubtnut.com/l/_WUUTr82cWe8Y
https://dl.doubtnut.com/l/_4UFvTyLyZFAE

D. KQCT’207

Answer: A

o Watch Video Solution

14. Which of the following pathways produces 2-hexanone?
(i) 1-Hexyne is treated with Hg?® /dil HyS50,
(i) 3-methylhept-2-ene is treated with Oj followed by hydrolysis.
(iii) n-butyl magnesium bromide reacts with acetaldehyde followed by
hydrolysis and then oxidation with chromic acid.
(iv) Hydroboratioin-oxidation of 1-hexyne.
A. (i), (i) and (iii)
B. (i) and (ii) only

C. (i), (ii) and (iv)

D. (i) amd (iii) only

Answer: A


https://dl.doubtnut.com/l/_4UFvTyLyZFAE
https://dl.doubtnut.com/l/_MlGDHLByhOGg

o Watch Video Solution

15. An alkene of molecular formula C9H;g on ozonolysis gives 2.2

dimethyl propanal and 2- butanone, then the alkene is

A. 2,2 A-trimethylhex-3-ene

B. 2,2,6-trimethylhex-3-ene

C. 2,34-trimethylhex-2-ene

D. 2,2,4-trimethylhex-2-ene

Answer: A

o Watch Video Solution

NaCN H, 0
16. (CH5).,CO s (A S
(CHy),CO —— (4)

(B)

In the above sequence of reactions, (A) and (B) are :

A.(CH3),C(OH)CH. (CHs),C(OH)COOH


https://dl.doubtnut.com/l/_MlGDHLByhOGg
https://dl.doubtnut.com/l/_SWRiZXj4pmOz
https://dl.doubtnut.com/l/_coQMQCKVaGv8

B. (CH;),C(OH)CNH,. (CH;),C(OH),
C.(CH;),C(OH)CN. (CH;),CHCOOH

D. (CH;),C(OH)CNH,. (CH;),C = 0

Answer: A

° Watch Video Solution

17. A liquid was mixed with ethanol and a drop of concentrated H5S0,

was added. A compound with a fruity smell was formed. The liquid was

A CH;0H

B. HCHO

C. CH3;COCHs

D. CH3;COOH

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_coQMQCKVaGv8
https://dl.doubtnut.com/l/_8KDrK7RBLdFN

18. The major product obtained on interaction of phenol with sodium
hydroxide and carbon dioxide is :
A. Benzoic acid
B. Salicyladehyde
C. Salicylic acid gives violte colour with neutral ferric chloride as well
as brisk effervescence with sodium bicarbonate

D. Phthalic acid

Answer: C

° Watch Video Solution

19. Which of the following does not give benzoic acid on hydrolysis?

A. Phenyl cyanide

B. Benzoyl chloride



https://dl.doubtnut.com/l/_8KDrK7RBLdFN
https://dl.doubtnut.com/l/_IsJmgBMMjPPo
https://dl.doubtnut.com/l/_W7FS3Apv4p10

C. Benzyl chloride

D. Methyl benzoate

Answer: C

o Watch Video Solution

</ \>——CHO+(x) , -
- CH,COONa

(HO

@—CH:CHCOQH

20.

The compound z is
A.CH3COOH
B. BrCH; — COOH
C.(CH3CO0),0

D.CHO — COOH


https://dl.doubtnut.com/l/_W7FS3Apv4p10
https://dl.doubtnut.com/l/_0Hp2Zrmv7FRG

Answer: C

o Watch Video Solution

21. Acetic acid is obtained when:

A. Methyl alcohol is oxidised with potassium permanganate
B. Calcium acetate is distilled in the presence of calcium formate

C. Acetaldehyde is oxidised with potassium dichromate and sulphuric

acid

D. Glycerol is heated with sulphiric acid

Answer: C

o Watch Video Solution

22. When m-chlorobenzaldehyde is treated with 50 % KOH solution, the

product (s) obtained is (are)



https://dl.doubtnut.com/l/_0Hp2Zrmv7FRG
https://dl.doubtnut.com/l/_8AeZPgHdvBo0
https://dl.doubtnut.com/l/_8nR1Jhv9xg5B

OH OH

L
) @CH—CHQ

A. OH
OO CH,OH
(2) [\ H i Q/
B. (gu OH
COO CH,OH
(3) [/\\/J/ + ©/ ’
c‘ Cl Cl
|OH: cle
CH—CH:
@ Q Q
D. cl c
Answer: C

° Watch Video Solution

23. Aldol condensation will not be observed in

A. Chloral

B. Phenyl acetaldehyde

C. Hexanal

D. Ethanal


https://dl.doubtnut.com/l/_8nR1Jhv9xg5B
https://dl.doubtnut.com/l/_WjS8NCOzkOTq

Answer: A

° Watch Video Solution

24. Whch of the following gives alcohol condensation reaction?

A CyH;OH
0]

I
B. Oy HsC — CgHs

ccmam—?—cm
|
(0]

DWH%C—H—CWH%
O

Answer: C

° Watch Video Solution

25. Which of the following organic compound exhibits positive Fehling

test as well as iodoform test?



https://dl.doubtnut.com/l/_WjS8NCOzkOTq
https://dl.doubtnut.com/l/_uxk0NmCdU9AY
https://dl.doubtnut.com/l/_wOePf7ehMvpb

A. Methanol

B. Ethanol

C. Propanone

D. Ethanol

Answer: D

o Watch Video Solution

26. Predict the product

O

(i) CH,MgBr

(i) H,O"

>



https://dl.doubtnut.com/l/_wOePf7ehMvpb
https://dl.doubtnut.com/l/_mu6TaPuzDydr

O

A,

H OH

O
OH
i “CH,

O

6/6*“3

]

O

(1)
| (2)
(3)
(4

Answer: B

o Watch Video Solution

27. Which of the following will not undergo aldol condensation-

A. Acetaldehyde


https://dl.doubtnut.com/l/_mu6TaPuzDydr
https://dl.doubtnut.com/l/_XbrlnRQbNkOY

B. Propanaldehyde

C.Benzaldehyde

D. Trideuteroacetaldehyde

Answer: C

° Watch Video Solution

28. Benzyl alcohol and sodium benzoate is obtained by the action of

sodium hydroxide on benzaldehyde. This reaction is known as

A. Perkin reaction

B. Cannizzaro reaction

C. Sandmeyer reaction

D. Claisen condensation

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XbrlnRQbNkOY
https://dl.doubtnut.com/l/_Il2GYZcE7pGD

29. Dimethyl ketones are usually characterised through

A. Tollens reagent

B. lodoform test

C. Schiff's test

D. Benedict's reagent

Answer: B

o Watch Video Solution

30. In the Cannizzaro reaction given below:

©

0
2Ph — CHO —H> Ph — CH,;OH + PhCO, the slowest step is:

A.The attack of OH ~ at the carbonyl group
B. The transfer of hydride to the carbonyl group

C. The abstraction of proton from the carboxylic group


https://dl.doubtnut.com/l/_Il2GYZcE7pGD
https://dl.doubtnut.com/l/_TiXEdmE9Rtsa
https://dl.doubtnut.com/l/_bpC0IZ3ULv1H

D. The deprotonation of PACH,OH

Answer: B

° Watch Video Solution

31. Trichloroacetaldehyde, CCI3CHQO reacts with chlorobenzene in

presence of sulphuric acid and produces.

Cl

B.
Cl)H
3) c;@?@@
C. cl
) C"@?H@Cl
D. cel,
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bpC0IZ3ULv1H
https://dl.doubtnut.com/l/_jfGSAVB2CSt2

32. Correct order of reactivity of
CH3sCHO, CoHsCOCH3 and CH3COCHj3 is

A.CH3CHO > CH3COCH3 > CH3COCyH;

B.CoHsCOCH3 > CH3COCH3 > CH3CHO

C.CH3COCH3 > CH3CHO > CyH5COCH;3

D.CH3COCH3; > CoH5sCOCH3 > CH3CHO

Answer: A

o Watch Video Solution

- ()O3 'X' can be
X (i) Zn-Hp0O O:O X ca
o O

A

33.


https://dl.doubtnut.com/l/_jfGSAVB2CSt2
https://dl.doubtnut.com/l/_0zdPyHcjQdOk
https://dl.doubtnut.com/l/_o7uWYHYS0z30

Answer: A

o Watch Video Solution

CHO () conc. NaOH . |
O (HHOoM
- "CHO |

34.

COOH
" ©F
COOH


https://dl.doubtnut.com/l/_o7uWYHYS0z30
https://dl.doubtnut.com/l/_CgHHQNoF5FfE

Answer: B

o Watch Video Solution

35. Select the reagent for the following reaction:

@ —> OHC — (CH,),— CHO

A. SeOs

B. O3, Zn/H2O


https://dl.doubtnut.com/l/_CgHHQNoF5FfE
https://dl.doubtnut.com/l/_j74Sg7hqMteI

C. 03, H,O5 — (CH3;COOH)

D. PCC

Answer: B

o Watch Video Solution

36. An aromatic compound X with molecular formula CyHqjO gives
following chemical tests:

(i) Form 2,4-DNP derivative

(ii) Reduces Tollen's reagent

(iii) undergoes Cannizzaro's reaction

(iv) On vigorous oxidation 1, 2-Benzene dicarboxylic acid is obtained

The compound X is,

CHO
CH,


https://dl.doubtnut.com/l/_j74Sg7hqMteI
https://dl.doubtnut.com/l/_tkjItsxxYmIW

CHO

(2)
C,H,
B.
0
\C\
dou
C. CH,
CHO
(4)
D. CZHS
Answer: A

° Watch Video Solution

37.The increasing order of the rate of HCN addition to compound A-D is
(A) HCHO

(B) CH3COOH3

(C) PhCOCH;3

(D) PhCOPh


https://dl.doubtnut.com/l/_tkjItsxxYmIW
https://dl.doubtnut.com/l/_nvKdhMusFGXT

AA<B<C<D

BD<B<C<A

CD<C<B<A

DC<D<B<A

Answer: C

o Watch Video Solution

38.The correct order of reactivity of PhMgBr with

0] o) o)

| | |
Ph—C—-Ph CH3—C—-H C(CH3;—C—-CHjis

C (II) (I11)

(1)
A (i) > (i) > (idd)
B. (i3i) > (1) < (4)
C. (id) < (4i1) < ()

D. (i) < (4ii) < (i)


https://dl.doubtnut.com/l/_nvKdhMusFGXT
https://dl.doubtnut.com/l/_iWTzjP3BjlWF

Answer: C

° Watch Video Solution

JCHQ ><293K @—CH CH— é—\_}

identify 'X'

Identify 'X'

(1) QCHZ—G\O
A.
. @ @—CHZ—CHZ—OH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iWTzjP3BjlWF
https://dl.doubtnut.com/l/_b2s2500GteK1
https://dl.doubtnut.com/l/_gtUi9wq9yylY

o o
| |
40. The diketone CH; — C' — (CH;), — C — CHj on intermolecular

aldol condensation gives the final product

O

e
(

A
O
OH
2)
B. CH,
O
(3)
C. ' CH)
0]
@ ﬁ
D. CH.a
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gtUi9wq9yylY
https://dl.doubtnut.com/l/_67yXct7RQmbR

41. What will be the product , when carboxy phenol, obtained by Reimer

Tiemann's process, is deoxidised with Zn powder ?

OH
Y CHO
(M 1
A.
| CHO
20
B.
OH
=
(3) l
C. A
COOH
(4)
D.
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_67yXct7RQmbR
https://dl.doubtnut.com/l/_7AVb0MdqcDxK

42. Which of the following aromatic acids is most acidic?

COOH
0 Q)
A.
COOH
OH
(2)
B.
COOH
0 Q.
OH
C.
COOH
D OH
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7AVb0MdqcDxK

A
43.CH;COOH E) X. Identify X
2V5

A.CH;COCH,
B. CH;CHO
c.(CH;C0),0

D.CH,

Answer: C

o Watch Video Solution

44. Which one of the following orders of acidic strength is correct?

A.RCOOH > HC =CH > HOH > ROH

B.RCOOH > ROH > HOH > HC =CH

C. RCOOH > HOH > HC = CH > ROH

D. RCOOH > HC =CH > HOH > ROH


https://dl.doubtnut.com/l/_XVRHIOxxMHe7
https://dl.doubtnut.com/l/_lJ025f5rjiAo

Answer: C

o Watch Video Solution

45. Which of the following presents the correct order of the acidity in the

given compounds?

CH3COOH < BrCH,COOH < CICH,COOH < FCH3;COOH

FCH,COOH > CH3COOH > BrCH,COOH > CICH,COOH

BrCH,COOH > CICH;COOH > FCH,COOH > CH3;COOH

FCH3;COOH > CICH,COOH > BrCH,COOH > CH3;COOH

Answer: D

(e~ |


https://dl.doubtnut.com/l/_lJ025f5rjiAo
https://dl.doubtnut.com/l/_nNmLwuy0HQo7

[ @ Watch Video Solution

46. The correct order of acidic strength of carboxylic acid is

A. Formic acid < Benzoic acid < Acetic acid

B. Formic acid < Acetic Acid < Benzoic acid

C. Acetic acid < Formic acid < Benzoic acid

D. Acetic acid < Benzoic acid < Formic acid

Answer: D

o Watch Video Solution

47.Treatment of benzoic acid with Cly / FeCl3 will give

A. p-chlorobenzoic acid

B. o-chlorobenzoic acid

C. 2-4-dichlorobenzoic acid


https://dl.doubtnut.com/l/_nNmLwuy0HQo7
https://dl.doubtnut.com/l/_53TBhpY9yqct
https://dl.doubtnut.com/l/_a563q26qFmtn

D. m-chlorobenzoic acid

Answer: D

° Watch Video Solution

48. In esterfication

A.OH ~ of acid is replaced by C¢ H;OH
B. H ™ of acid is replaced by sodium metal
C.OH =~ of alcohol is replaced by chlorine

D.OH ~ of acid is replaced by RO~ group

Answer: D

o Watch Video Solution

49, Acetyl chloride is reduced with Li AlH, , the product formed is


https://dl.doubtnut.com/l/_a563q26qFmtn
https://dl.doubtnut.com/l/_zw3lY6qyjtbC
https://dl.doubtnut.com/l/_ZPH36fALmk56

A. Methyl alcohol

B. Ethyl alcohol

C. Acetaldehyde

D. Acetone

Answer: B

o Watch Video Solution

50. The reaction
P
CH3;COOH + Cly — CICH,COOH + HClis called
A. Hell-Volhard-Zelinsky reaction
B. Birch reaction
C.Rosenmund reaction

D. Hunsdiecker reaction

Answer: A



https://dl.doubtnut.com/l/_ZPH36fALmk56
https://dl.doubtnut.com/l/_08vqgCKqlubT

| o Watch Video Solution

51. Saponification of ethyl benzoate with caustic soda as alkali gives

A. Benzyl alochol and ethanoic acid
B. Sodium benzoate and ethanol
C. Benzoic acid and sodium ethoxide

D. Phenol and ethanoic acid

Answer: B

o Watch Video Solution

52. Which of the following acids has the smallest dissociation constant?

A CH;CHFCOOH

B. FCH,CH,COOH


https://dl.doubtnut.com/l/_08vqgCKqlubT
https://dl.doubtnut.com/l/_rQLPi69cNWWN
https://dl.doubtnut.com/l/_tJl6buy8sHMB

D.CH;CHBrCOOH

Answer: C

° Watch Video Solution

53. Enot content is high test in

A. Acetone

B. Acetophenone

C. Acetic acid

D. Acetyl acetone

Answer: D

o Watch Video Solution

54. Aliphatic aldehyde can be oxidised by


https://dl.doubtnut.com/l/_tJl6buy8sHMB
https://dl.doubtnut.com/l/_QqRV2yp4Y76V
https://dl.doubtnut.com/l/_gBZPprqoLP8H

A. Tollen's reagent

B. Fehling solution

C. Benedict solution

D. All of these

Answer: D

o Watch Video Solution

55. Formaldehyde when treated with KOH (caustic potash) gives methanol

and potassium formate, the reaction is known as

A. Perkin reaction

B. Claisen reaction

C. Cannizzaro reaction

D. Knoevengael reaction

Answer: C



https://dl.doubtnut.com/l/_gBZPprqoLP8H
https://dl.doubtnut.com/l/_b03O5mlp7SIc

| ° Watch Video Solution

R
A R | o
Reaction /CQ.+ HCN—> R—C—OH is.. ...
R : S

_ CN
56. Reactions

A. Electrophilic substitution
B. Nucleophilic substiution
C. Nucleophilic substition

D. Electrophilic addition

Answer: B

° Watch Video Solution

57.Bakelite is a poylmer is

A. HCHO + Phenol


https://dl.doubtnut.com/l/_b03O5mlp7SIc
https://dl.doubtnut.com/l/_73DDD4BUDLEB
https://dl.doubtnut.com/l/_zsyyhNmZN9P5

B. HCHO + acetaldehyde

C. Phenol + H,S0,

D. HCHO + acetone

Answer: A

° Watch Video Solution

58. Fehling test is positive for

A. Acetaldehyde

B. Benzaldehyde

C. Ether

D. Alcohol

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zsyyhNmZN9P5
https://dl.doubtnut.com/l/_gpNwhA02IHVL
https://dl.doubtnut.com/l/_l1hnvQcG4Ag1

NaOH
59. 206H5CHO — 06H5CH20H + CﬁHg,COONa
The similar reaction can take place with which of the following aldehyde?
A.CH;CHO
B.CH;CH,CHO
C.(CHs),(C)CHO

D. CH;CH,CH,CHO

Answer: C

o Watch Video Solution

60. Find the final product of the reaction

COOH .
—> A_ ldentify 'A
COOH |

A. Benzene


https://dl.doubtnut.com/l/_l1hnvQcG4Ag1
https://dl.doubtnut.com/l/_jOADZ1teNrdW

B. Phthalimide

C.Benzamide

D. Acetaldehyde

Answer: B

° Watch Video Solution

Assignment (SECTION -B OBJECTIVE TYPES QUESTIONS (ONE OPTION IS

CORRECT)

H—C a{o H-—C}< . &0

1. B ~O—H s O designated

by a, 8, and § are in order:
Aa=v<p=9
Ba<fB<y=9$

Ca<y=0<2p


https://dl.doubtnut.com/l/_jOADZ1teNrdW
https://dl.doubtnut.com/l/_fRHYyJJhFeQU

Da=f8=v=9§

Answer: C

° Watch Video Solution

o

[
2. CH;CHy, — C — O — Cy,H,

(¢) DIBAL .H (1leq)

\

(ii) H;0+

respectively.

A.CH;CH,CH,OH + CoH;OH

B.CH;CH,CHO + Cy,H;OH

C.CH3;CH,CHO + CH3CHO

D. CH;CH,CH,OH ~ + CH3;CHO

Answer: B

7

A+ B A and B are

° Watch Video Solution



https://dl.doubtnut.com/l/_fRHYyJJhFeQU
https://dl.doubtnut.com/l/_nUKTXDU0J6HR

3. CH3CHO + LiAlHy — CH3CH>;OH Nucleophite added in this
reaction is

A AlH,

B.Li ™"

CHT

D.H™

Answer: D

o Watch Video Solution

4. Complete the reaction

PhMgBr
Ph—-CH =CH — CHO ﬁ Product
3

APh—CH—- CH—-CHO
| |
Ph OH

B.Ph— CH =CH,; — CHO

|
Ph



https://dl.doubtnut.com/l/_x4P9hfsdjBlX
https://dl.doubtnut.com/l/_ybQrwZpjdFDf

CPh—-CH-CH—-CHO
| |

Ph Ph

D.Ph— CH - CH; — CH, — OH
|
Ph

Answer: B

o Watch Video Solution

5. Consider the following sequence of reactions:

O
H\(: ~ 0 M, product. Product may be

[~

The final product [B] in the reaction would be:

A. Meso
B. Racemic
C. Inversion

D. All of these

Answer: B



https://dl.doubtnut.com/l/_ybQrwZpjdFDf
https://dl.doubtnut.com/l/_vXpCAdIOoWaJ

I ° Watch Video Solution

6. Consider the following sequence of reaction

<> o Peroxde, () D 9D, pg
(i) CO,

(iii) H,0"

The final product [B] in th reaction would be:

o)
\ |
(3) C—OH
C.
O
I
4) CH,—C—OH

Answer: D

.


https://dl.doubtnut.com/l/_vXpCAdIOoWaJ
https://dl.doubtnut.com/l/_KCMNsYaTV6Fc

| ¥ Vvatch Video Solution

0
| C
7.CH; — C — CH, "% Product
HNO;

The product is

A.CH;COOH

B.CH;CH,COOH + HCOOH

C. CH;CH,CH,COOH

D. No reaction

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_KCMNsYaTV6Fc
https://dl.doubtnut.com/l/_LM3xS2TGiuyA

SeO,



https://dl.doubtnut.com/l/_nGiC68kFZI2P

Answer: A

° Watch Video Solution

ZnHg ol

B.NHy — NHQ/OH_
C.Both (1) and (2)

D. NaBH,

Answer: B


https://dl.doubtnut.com/l/_nGiC68kFZI2P
https://dl.doubtnut.com/l/_1S81QRbpTGj5

° Watch Video Solution

OH OH
I l H'
. —_—> A
@C C@ (Major)
CH,O OCH,
CH, CH
10. ’ ’
CH,
oF
v CH,AO@((;—CA@OCH
A. cH,
. _E@m
.,

C.Both (1) and (2)

@C/i\c@
@ ocH,

(4)
CH,O
D.

CH, CH,

Answer: A

| o A _L vl . o ~_ ..


https://dl.doubtnut.com/l/_1S81QRbpTGj5
https://dl.doubtnut.com/l/_f16Zm2PghVaz

L T vvaillll VIUCO o01IuULiVIll

O
AIH
O o
1.

The product predominates is

HO H

(1) |
A.

HO_ H

(2) @
s

O

Je
C.


https://dl.doubtnut.com/l/_f16Zm2PghVaz
https://dl.doubtnut.com/l/_FokAoYYlvZEU

Answer: A

° Watch Video Solution

12. Which of the following carbonyl oxygen will form strongest hydrogen

bond with H2O molecule?

T
I

(2)


https://dl.doubtnut.com/l/_FokAoYYlvZEU
https://dl.doubtnut.com/l/_7r9bpEBZBqOl

(4)

Answer: B

o Watch Video Solution

13. Which of the following would be the best synthesis of benzoic acid

from bromobenzene?

B ) @—Bv + AQCN——> (A%
3) Br9 s, (a) 0G0
C THF (i) H,O'


https://dl.doubtnut.com/l/_7r9bpEBZBqOl
https://dl.doubtnut.com/l/_gmo8y9NCQTeL

DKen
“) @Br e W e (i) HO'

Answer: C

o Watch Video Solution

14. Consider the following sequence of reactions:

C=N

|
(i) PhMgBr} A H,N—C—NH-—NH,

(i) H,0"

Major product [B] of the given reaction would be

2

>8]



https://dl.doubtnut.com/l/_gmo8y9NCQTeL
https://dl.doubtnut.com/l/_0IzlLAbAkyiU

(1) E>C~'NH2

Answer: C

o Watch Video Solution

15. The compound which is not reduced by Li AT Hy is

A. Cyclohexanone

B. 2-Methyl-1-butanol

C. Ethyl benzoate

D. w-caprolactam

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0IzlLAbAkyiU
https://dl.doubtnut.com/l/_OgJMhTFC2hdz

16. Consider the following sequence of reactions.

O
B (H; Pd/CaCO3} A HO—(CH2>3—oﬂlB]

¢l H, (¥eq)

The product [A] and [B] are respectively

A o L/ ’('( 'Oand@*‘i<3

1
]
2 [/\ C—OH and
/"
o

Il
&—O—CH,—CH,—CH,—OH
B. [
9 iii
R L>~gIOH and Q—C{ )
C.
1
) C—H and chHfCHQ
p. ")

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7JCswebUuAak

17. The compound

Lon

can be

compounded oxidized into

|
C—OH by

A. NaCN followed by hydrolysis
B. NaOl followed by H3O*
C. KMnQOy hot followed by hydrolysis

D. K5CryO7 followed H30+


https://dl.doubtnut.com/l/_MYnJPBDvpN7s

Answer: B

° Watch Video Solution

18. Which of the following conversion is known as Stefen's reduction?
o 0Dt Oroe
B. © I:}CEN““—’;inS'AHC' O‘C“O
C o Q?[Ee;:ocuon Q/NH——CH,

/)'\/j( (l:"(: O L/\LH

Answer: B

o Watch Video Solution

19. Which reagent or sequence of reagents would best accomplish the

following synthesis?


https://dl.doubtnut.com/l/_MYnJPBDvpN7s
https://dl.doubtnut.com/l/_AE84vq0J843x
https://dl.doubtnut.com/l/_hn0Fv9wF8LD6

A () LiAlH, iV H ', A

B. NaBH,
C.() Na/NHs (i) NaBH; JH" . A

D. (i) Mg/ Et2O (ii) LiAlHg, (i) H, A

Answer: B

° Watch Video Solution

20. An organic compound [X]. C5 HgO reacts with hydroxylamine to form
[Y]. In the presence of conc. H3SO4 gives d-lactam. [X] neither give
Benedicts test nor it respond positively towards haloform test. The

compound [X] is


https://dl.doubtnut.com/l/_hn0Fv9wF8LD6
https://dl.doubtnut.com/l/_i2Q717ZUNjlw

A.
(2) /\]/\
O
B.
(3) O
C.
HSC /O
(4)
D.
Answer: C

o Watch Video Solution

21. Alanine can be obtained from acetaldehyde by the following sequence
of reactions.

Alanine


https://dl.doubtnut.com/l/_i2Q717ZUNjlw
https://dl.doubtnut.com/l/_YOzEXMSuhamg

H
|
HOOC — (|7 — NH,

CHj

H
HOOC—C—NH,

CH,
Alanine

A. Reactions with HCN, followed by N Hs and finally acidic hydrolysis

B. Reactions with HCN, acidic hydrolysis and finally reaction with N H3

C. Reaction with N H3, followed by HCN and finally acidic hydrolysis

D.Reaction with NaHSOs, followed by NHs and finally acidic

hydrolysis.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YOzEXMSuhamg

22. Which of the following carboxylic acid ismost reluctant to form ester
with a given alcohol in the presence of a catalytic amount of

concentrated H3S50, ?

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YOzEXMSuhamg
https://dl.doubtnut.com/l/_CeZPjjeApSar

23. Among the given compounds

O

.~ OH . 0 ,

o (l, I

E/\ OH - O oH
18 |

\]/ HO :

OH OH
0 (1

O _OH

-~

A on

HO-  ~Z
gl

!

il
!n!)

AIIl > 1V > 1> 11

B.I >1V >1II > 111

CIII >1>1V > 11

D.III > 1> 1II>1V

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SRLapCXeF0pn

@-Q—CH PCI,, PCI, 0°C

(i) LiNH (3eq)

Na / NH,

(ii) Et -

u. NS

Ais

O
1 <:7>——% CH,—CH,—CH
(n — 2 2 3
B @) @—CHZ—CHZ—CH{—CHJ

Ph. H
B c=c

H/

C Et
Ph Et

/ AN
D. H H
Answer: C

2> [A]

° View Text Solution



https://dl.doubtnut.com/l/_SRLapCXeF0pn
https://dl.doubtnut.com/l/_bPUr6v6REV8c

Assignment (SECTION -C Objective type questions more than one options

are correct)

1. Which of the following reactions involve carbanion enolalte as reactive

intermediate?

A. Kolbe-Schmidt reaction

B. Reimer-Tiemann reaction

C. Claisen condensation

D. Aldol condensation

Answer: C::D

° Watch Video Solution

2. Which of the following compounds can be synthesized by

intramolecular aldol condensation in very good yield ?


https://dl.doubtnut.com/l/_KukiZgBfkCUW
https://dl.doubtnut.com/l/_k4UCakTTTlrw

CHO
A . @CHa
O
“ @
A O
()
c
o

Answer: B::D

o Watch Video Solution

3. Which of the following dicarboxylic acid will give cycle alkanone on

heating?


https://dl.doubtnut.com/l/_k4UCakTTTlrw
https://dl.doubtnut.com/l/_ip6MqQVngHm2

V o
,1 OH
(1) OH
A ©
0
OH
B. OH
OH
(3) O
OH
C. O
O .
4 OH
4 1 OH
D. . O

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_ip6MqQVngHm2

4. Which of the following compounds will give over all substitution

product via. Addition/elimination mechanism with Ethylamine?

Answer: A::B

o Watch Video Solution

5. Which of the following reagents can be used to distinguish

Benzaldehdyde from acetophenone?

A. Tollen's reagent


https://dl.doubtnut.com/l/_ln9QZu9EnU8l
https://dl.doubtnut.com/l/_l2tR4gnOJm1A

B. Sodium hypoiodite

C. 2,4-Dintrophenyl hydrazone

D. Benedicts solution

Answer: A::B

o Watch Video Solution

6. Which of the following compounds could liberate CO, with aqueous

NG,HCO37
OW
(1) O N NO,
A NO,
OH
(2) MeO OMe

B. OMe


https://dl.doubtnut.com/l/_l2tR4gnOJm1A
https://dl.doubtnut.com/l/_oQuJMNnzOu0z

C.
SO,H
(4)
NH,
D. @
Answer: A::D

° Watch Video Solution

7.Which of the following intermediates are involved in the acid catalyzed

esterification of carboxylic acid?


https://dl.doubtnut.com/l/_oQuJMNnzOu0z
https://dl.doubtnut.com/l/_64BCe9uGFYLe

Answer: B::C::D

o Watch Video Solution

8. Consider the following sequence of reactions

y OH 0. |
M / i Nanco,> Products
O

Products of the given reaction would be



https://dl.doubtnut.com/l/_64BCe9uGFYLe
https://dl.doubtnut.com/l/_s13iddi8YqzL

|
> T
B. om0
©) |/<l-
C. g o
“) ’Y(lo
o
D.

Answer: B::D

° Watch Video Solution

9. Which of the following compounds will give tertiary butanol as the

major product when treated with excess of MeMgBr?

(0]
0 @o—é\;-
A. )


https://dl.doubtnut.com/l/_s13iddi8YqzL
https://dl.doubtnut.com/l/_BXbh6NzppRDo

Answer: A::C

o Watch Video Solution

10. Which of the following statements are correct regarding given

reaction?

Labled oxygen]

A.The given reaction primarily follows S — (N)2- mechanism

B. In the given reaction condition inversion occurs at the chiral carbon


https://dl.doubtnut.com/l/_BXbh6NzppRDo
https://dl.doubtnut.com/l/_8lpOasVPFKpJ

C.Labelled .'® O is present is formed carboxylic acid.

D.The given reaction primarily follows addition/elimination

mechanism

Answer: A::C

o Watch Video Solution

11. Identify the set of reagents/ reaction conditions X

following of transformations

@-CH2~Br —2 5 Product
s CH —C-OH

A. X = Mg/Et;0.Y = CO,, followed by H;O*
_>
B.X=AgCN.Y=(i) O H / H, (ii))H;0 "

_>
C.X = NaCN, Y=(i) O H/ H,O (i) H;0™"

and Y in the


https://dl.doubtnut.com/l/_8lpOasVPFKpJ
https://dl.doubtnut.com/l/_YhUxvDn3Y3ge

D. X=alcoholic KOH, Y= (i) HCN, (ii) H30 "

Answer: A::C

° Watch Video Solution

Assignment (SECTION -D Linked Comprehension type Questions)

1. Certain dicarboxylic acids spontaneously eliminate water when heated
forming cycioc anhydirides. But for the reaction to be successfully. The
cyclic anhydrides product must normally have a ring size of fivee or six
members. There are two important reasons, first, the second carboxyl
group can serve as the acid catalyst (by intramolecular proton transfer),
as well as the nucleophile. And second, the high temperature involved

reduce the need for catalyst.


https://dl.doubtnut.com/l/_YhUxvDn3Y3ge
https://dl.doubtnut.com/l/_pVvCoB0IQ1MP

Which of the following dicarboxylic acid would you expect to form cyclic

anhydride?

s |
¢ 9§
HO” \CH{C\OH
A‘ : . .


https://dl.doubtnut.com/l/_pVvCoB0IQ1MP

C.
O
OH
’/OH
O
D.
Answer: C

o View Text Solution

2. Certain dicarboxylic acids spontaneously eliminate water when heated
forming cycioc anhydirides. But for the reaction to be successfully. The
cyclic anhydrides product must normally have a ring size of fivee or six

members. There are two important reasons, first, the second carboxyl


https://dl.doubtnut.com/l/_pVvCoB0IQ1MP
https://dl.doubtnut.com/l/_PxQOrKW4f69Y

group can serve as the acid catalyst (by intramolecular proton transfer),

as well as the nucleophile. And second, the high temperature involved

reduce the need for catalyst.

Q)
O
! I
. N
/ (I“) / ®)
(Ch,), H o (CH,)
; CO ¥ OH
\-~(!:' -(l/
OH OH

O
[ I
N C
-H,0
(CH), O <« (CH,), /O
\I/ \%\OH
O HO

Which of the following dicarboxylic acid will not for cyclic anhydrides?


https://dl.doubtnut.com/l/_PxQOrKW4f69Y

() "N on
H/C\C/OH
-
A.
0
élz
SOH
) OH
ﬁ/
B. )
0
He &
N~ \OH
) i
HO\c/C\H
c b
T
H.C C
OH
H,C ‘(II;/
D o
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_PxQOrKW4f69Y

3. Certain dicarboxylic acids spontaneously eliminate water when heated
forming cycioc anhydirides. But for the reaction to be successfully. The
cyclic anhydrides product must normally have a ring size of fivee or six
members. There are two important reasons, first, the second carboxyl
group can serve as the acid catalyst (by intramolecular proton transfer),
as well as the nucleophile. And second, the high temperature involved

reduce the need for catalyst.

[ P ONY
Kk (’JE{) > Qb /oy
\ . (l"' | o\\‘b "

OH | OH

|
O HO


https://dl.doubtnut.com/l/_h8Ysffkvpd2r

Consider the following sequence of reaction,

,COOH .
COOH ———A——> [A]——é——% Product.
" \NCOOH

The final product of the reaction would be

Ne)
él:
AN
' O
c”
I
O
A.
. '-COOH
[i:]:COOH
B.

(i::rCOOH
C.


https://dl.doubtnut.com/l/_h8Ysffkvpd2r

Answer: D

o Watch Video Solution

4. Both carbonyl compounds and acid derivatives though they contain

grouping yet


https://dl.doubtnut.com/l/_h8Ysffkvpd2r
https://dl.doubtnut.com/l/_62VGmJO1XxeI

the reactions given by them are entirely different.

As Aldehydes and Ketones give addition product with a nucleophile, while
carboxylic acid derivatives give nucleophilic acyl substitution through
addition/elimination mechanism.

P S ]

R Ces NU — R—C—Nu==R—C—Nu+X°

\x §>|<
Acid-derivatives V Substitution Product
(0]
||
Where X — = —Cl— O —C — R — OR, — NR(R) etc.
O
vhere X— = —Cl, —O—C—R, —OR’, -NRR’ etc.
> O R OH
f \\\ JO R\p/ +H®‘ \C/
-0+t = » A —
V.// R’/ \NU R/ \NU
Addition
VARSISYLE produet

o Vetornic

Why aldeydes and Ketones give nucleophilic addition reaction while acid

derivatives prefer nucleophilic acyl substititution reaction?

A. Carbonyl carbon of aldehyde and Ketones are more electron

deficient than acid derivatives


https://dl.doubtnut.com/l/_62VGmJO1XxeI

B. Carbonyl carbon of acid derivatives are more electron deficient.

C. Acid derivatives also give addition reaction

D.In acid derivatives, acyl carbon is connected with a good leaving

group

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_62VGmJO1XxeI

5. Both carbonyl compounds and acid derivatives though they contain

|
/C\

the reactions given by them are entirely different.

grouping yet

As Aldehydes and Ketones give addition product with a nucleophile, while
carboxylic acid derivatives give nucleophilic acyl substitution through

addition/elimination mechanism.

O 7

/ . | A
R—C€ + NuU = R—C—Nu==R-—C—Nu+x°
\ [ .
X QX

Acid-derivatives Substitution Product

o

[
Where X — = —Cl— O —-C — R — OR, — NR(R) etc.


https://dl.doubtnut.com/l/_W4o1ugMtaqv2

(") 7/
where X— = —C|, —O0—C—R, —OR’, -NRR’ etc.

o -

-

~ R OH
R o R\ P @ \‘/
cooenfe= B B
Addition
fAedecbrydde: fuct

o8 Ketone

Which of the following is most reactive towards a nucleophile?


https://dl.doubtnut.com/l/_W4o1ugMtaqv2

Answer: A

o View Text Solution

6. Both carbonyl compounds and acid derivatives though they contain

- | ‘ grouping yet
the reactions given by them are entirely different.
As Aldehydes and Ketones give addition product with a nucleophile, while
carboxylic acid derivatives give nucleophilic acyl substitution through

addition/elimination mechanism.


https://dl.doubtnut.com/l/_W4o1ugMtaqv2
https://dl.doubtnut.com/l/_CP65i5HWBEPn

0 | Q;o - :
4 ) . SR | S _
R—C€ + NuU =— R—C—Nu=—R-—C—Nu+X°

Acid-derivatives ' Substitution Produet
@)
[
Where X — = —Cl— O —-C — R — OR, — N(R)R etc.
N \ - OH
‘ AN O P\ /O +H$ R\C/
-0+ My = C —
H’/ R’/ \Nu R’/ \Nu
ebigce: Addition
[Ardeh gdec o

o Veetonic:

Carbonyl character is most supressed in

O:

/
@C/ ../R
NN

R
O

Vi
4
\Q__R'

B.


https://dl.doubtnut.com/l/_CP65i5HWBEPn

0 Q

77 N\
Clﬂ—C\O /C.—CHa
D.
Answer: A

° Watch Video Solution

Assignment SECTION - E Assertion - Reason Type Questions)

1. Statement-1: Benzaldehyde gives negative Benedict's test

and

Statement-2: Aldehydes do not respond positively with Benedicts reagent.

A. Statement-1 is True, Statement-2 is true, statement-2 is a correct

explanation for statement-1

B. Statement -1 is true, Statement-2 is true, statement-2 is not a

correct explanation for statement-1

C. Statement-1 is true, statement -2 is False


https://dl.doubtnut.com/l/_CP65i5HWBEPn
https://dl.doubtnut.com/l/_A1aHMdVfyYyn

D. Statement-1 is False, Statement-2 is true

Answer: C

o Watch Video Solution

2. Statement-1: When PhCHO is made to react in D50, deuterium in
incorporated in product in Cannizzaro reaction.
and
Statement-2: In cannizzaro reaction transfer of hydride takes place from
one molecule to other.
A. Statement-1 is True, Statement-2 is true, statement-2 is a correct
explanation for statement-2
B. Statement -1 is true, Statement-2 is true, statement-2 is not a
correct explanation for statement-2

C. Statement-1 is true, statement -2 is False

D. Statement-1 is False, Statement-2 is true


https://dl.doubtnut.com/l/_A1aHMdVfyYyn
https://dl.doubtnut.com/l/_FC7xT6QCqCva

Answer: D

o Watch Video Solution

3. Statement-1: Ketones in presence of highly electropositive elements
such as Na, Mg, Yield 1,2 diol or pinacol.
and
Satement-2: Electrons released by electropositive elements convert C=0
group into radical anion.
A. Statement-1 is True, Statement-2 is true, statement-2 is a correct
explanation for statement-3
B. Statement -1 is true, Statement-2 is true, statement-2 is not a
correct explanation for statement-3

C. Statement-1is true, statement -2 is False

D. Statement-1 is False, Statement-2 is true

Answer: A


https://dl.doubtnut.com/l/_FC7xT6QCqCva
https://dl.doubtnut.com/l/_YAMv5WM6RrSQ

° Watch Video Solution

4. Statement -1: Cyclohexanone on reaction with secondary amines yeilds

Schiff's base.

and

Statement-2: The initial adduct lose water to generate product.

A. Statement-1 is True, Statement-2 is true, statement-2 is a correct

explanation for statement-4

B. Statement -1 is true, Statement-2 is true, statement-2 is not a

correct explanation for statement-4

C. Statement-1is true, statement -2 is False

D. Statement-1 is False, Statement-2 is true

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YAMv5WM6RrSQ
https://dl.doubtnut.com/l/_EmvHpuGyhPTW
https://dl.doubtnut.com/l/_KP6MeFVi2hOn

5. Statement-1: Methanoic acid reduces mercuric chloride to mercurous

chloride on heating while ethanoic acid does not.

and

Statement-2: Methanoic acid is stronger acid then ethanoic acid.

A. Statement-1 is True, Statement-2 is true, statement-2 is a correct

explanation for statement-5

B. Statement -1 is true, Statement-2 is true, statement-2 is not a

correct explanation for statement-5

C. Statement-1 is true, statement -2 is False

D. Statement-1 is False, Statement-2 is true

Answer: B

o Watch Video Solution

6. Statement-1: Acetic acid does not undergo haloform test.

and


https://dl.doubtnut.com/l/_KP6MeFVi2hOn
https://dl.doubtnut.com/l/_vvOCs4mFTnZg

Statement-2: Acetic acid does not contain any a- hydrogen.

A. Statement-1 is True, Statement-2 is true, statement-2 is a correct

explanation for statement-6

B. Statement -1 is true, Statement-2 is true, statement-2 is not a

correct explanation for statement-6

C. Statement-1 is true, statement -2 is False

D. Statement-1 is False, Statement-2 is true

Answer: C

° Watch Video Solution

7. Statement-1: Decarboxylation of 8- keto acid is very difficult
and
Statement-2: Decarboxylation takes place via a six membered cyclic

transition state.


https://dl.doubtnut.com/l/_vvOCs4mFTnZg
https://dl.doubtnut.com/l/_js8I0TfAN2Ku

A. Statement-1 is True, Statement-2 is true, statement-2 is a correct

explanation for statement-7

B. Statement -1 is true, Statement-2 is true, statement-2 is not a

correct explanation for statement-7

C. Statement-1 is true, statement -2 is False

D. Statement-1 is False, Statement-2 is true

Answer: D

o Watch Video Solution

Assignment (SECTION - F Matrix Match type Questions)

1. Match the following

Column-| Column-ll

(A) Fries rearrangement (p) Acid-catalysed rearrangement
(q) Concerned with ester

(C) Bayer Villiger's rearrangement () Involves electrophilic substitution:
(

(D) Pinacol-pincolone rearrangement s) Intramolecular rearrangement

(B) Claisen rearrangement

| ° Wiak~h \tAAA CAlLiikiAan


https://dl.doubtnut.com/l/_js8I0TfAN2Ku
https://dl.doubtnut.com/l/_qTZNIg87mb77

| § AAK-LAMI IR AL AV A®LiYIL ALY IN]

2. Match the following

Column-| Column-ll
Y- CHO
(A) f Q:[ (p) Aldol condensation
O
I
(B) CH, C - CH, (q) Cannizzaro reaction
(C) HCHO : ()  Benzoin condensation

O
l'\ . " v
D) @ ("@ © (s) Claisen-Schmidt reaetion

° Watch Video Solution

3. Match the following



https://dl.doubtnut.com/l/_qTZNIg87mb77
https://dl.doubtnut.com/l/_KzSFkx1gjbEX
https://dl.doubtnut.com/l/_jGo4t6epoAEV

| & View Text Solution I

4. Match the following:

Column |

o Column 1I
) i OH
f C—H—~—"> o (p) Involves carbanion enolate
o o I
B) 2 o, i (@) Involves nucleophilic' addition
0 : ‘
cr o S
©) OH , () . Molecular wt. of product more than that of reactant
O (o] o ) o
©) /\/\/J\OE —E(«)CET:T’ (s) Five membered ring formation
EtO t : :

(t) Generates reso_nahoe stabilized carbanien

° Watch Video Solution

Assignment (SECTION -G Integer Answer Type Questions)

1. Consider the following reactions.

I " cry. OD/D,0(excess)

C , 3 Product
N / ™~ / 24 hours { ]

Molecular weight of the product would increase by

[Assuming that mol. Wt. of C=12, 0=16, H=1 and D=2]



https://dl.doubtnut.com/l/_jGo4t6epoAEV
https://dl.doubtnut.com/l/_4fdvOMHLOGk2
https://dl.doubtnut.com/l/_gnF5x6aHaDRB

| o Watch Video Solution

2. What would be the maximum number of atoms involved in the

formation of newly constructed ring in the given reaction?

/\/\( OH 0
| O - (i) NaHCO3

° Watch Video Solution

3. What is the net negative charge on the major product of the given

species when it is treated with excess NaOH?



https://dl.doubtnut.com/l/_gnF5x6aHaDRB
https://dl.doubtnut.com/l/_553GHq6dflnl
https://dl.doubtnut.com/l/_XFsrJYChrd69

| o Watch Video Solution

Assignment (SECTION -H Multiple True-False Type Questions)

1. Statement -1: Acetophenone gives aldol condensation.
Statement-2: Benzaldehyde is more reactive than acetaldehyde towards
nucleophilic addition.
Statement-3: Benzophenone has a-Hydrogens
ATTT
B. FFF

C.TFF

D.TFT

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XFsrJYChrd69
https://dl.doubtnut.com/l/_bmEv2cVZ4lg8

2. Statement-1: Formation of cyclic acetal is entropically favourable.

Statemen-2: PCC converts primary alcohol into aldehydes.

Statement-3: Aliphatic alcohols are practically insoluble in aqueous NaOH.

ATIT

B. FFF

C.TFT

D.FTF

Answer: A

° Watch Video Solution

Assignment (SECTION -l Subjective Type Questions)

1. Show how you would synthesize each compounds from starting

materials containing no more than six carbon atoms.


https://dl.doubtnut.com/l/_CCJiTYob9KHH
https://dl.doubtnut.com/l/_Z6Wu3KW4awPe

(@]

1

il - H,—CH,—CHO
- @c@ (b) O—c ) 2

o Watch Video Solution

2. Predict the products of the following reactions
O
C—CI + (CH,),Cd—>

(a)

)
| (i) CH3MgBr
(b) CHs — C — CHy =797
(ii) H;O+

(c)

o Watch Video Solution



https://dl.doubtnut.com/l/_Z6Wu3KW4awPe
https://dl.doubtnut.com/l/_lrdImnHvOzl1

3. Propose mechanism for the given reaction:

%, 0) 4 " Phy,
///,/"‘C V4 NaOH/H,0 //”// //o
. ~C + CH,0OH
18 v & '
MGW/A \o CH, Me / 1(%Na 3
Et ‘ " Et

° Watch Video Solution

4. Supply the structures of Aand B

s gy ove, N soop
1

° Watch Video Solution

5. An organic compound [A] CqHy5 gave (B) CgHzgO,4 on oxidation by
alkaline KMnQy. [B] on heating does not form anydyride. Also [B] reacts

with Brj in the presence of iron to give only one monobromoderivative (


https://dl.doubtnut.com/l/_lrdImnHvOzl1
https://dl.doubtnut.com/l/_aMuVZRpNhidO
https://dl.doubtnut.com/l/_GoyCecJrVeVp
https://dl.doubtnut.com/l/_GvA7CFa6zPNr

C) CgH5BT04.

What are AB and C?

° Watch Video Solution

6. Propose a synthesis of each of the following compounds from the

indicated starting materials (s) and any other necessary reagents.

QCHO from Q—é’_’OH
o . ,
lé \ .
CH,—C—CH, from CH,

° Watch Video Solution



https://dl.doubtnut.com/l/_GvA7CFa6zPNr
https://dl.doubtnut.com/l/_LnuS4msvf0CE

7. How many products are formed when compound [X] is decarboxylated?

COOH

COOH

o Watch Video Solution

8.Suggest a mechanismfor each of the following reactions:

AN
(CH)y—CH—CH, . - Br . X
n , : M
©/ @ “ D{\;l \ D
: 0

CH,OH

o Watch Video Solution

9. Suggest a synthesis of given product from the indicated starting

material.


https://dl.doubtnut.com/l/_MEnIisTwkMtP
https://dl.doubtnut.com/l/_QLJa6Qtw2fou
https://dl.doubtnut.com/l/_hEg2qX6PdjeF

N
I:>—~NHCH2QH3
SOy

° Watch Video Solution

10. Identify the compounds [A] through [D] in the following sequence of

reaction.
~ (i) 0sO, HIO, (1) Ag(NH 4);
| , >[A]——">[B] —>1>[C] ——> 0]
> (i) NaHS O, (iyH'

° Watch Video Solution

Assignment (SECTION -J Akash challengers Questions)



https://dl.doubtnut.com/l/_hEg2qX6PdjeF
https://dl.doubtnut.com/l/_h8Dz9zHWBIoC

1. Consider the following sequence of reactions:

O

H,0,/NaOH N,H,/aq. KOH

> (1] > [P]

Intermediate [I] and corresponding major product [P] in the given

reactions are

@ —
O. .0 Ho H:NQ

O
LR

A U] [P]

Answer: C


https://dl.doubtnut.com/l/_5CnV63t5MznJ

° Watch Video Solution

2. Consider the following sequences of reactions.

Me

(i) HC=CNa _ Hg“/H,0"

(iyH,0 ~
|

Major product would be

Me
O
A.
HO
S8
B.
Me OH
~Me


https://dl.doubtnut.com/l/_5CnV63t5MznJ
https://dl.doubtnut.com/l/_r1DFMRjBP25u

Answer: C

° Watch Video Solution

3. Draw a stepwise mechanism for the following reaction

o Watch Video Solution



https://dl.doubtnut.com/l/_r1DFMRjBP25u
https://dl.doubtnut.com/l/_PFVgSPkczdOC

4. Draw a mechanism for the following reaction.

CO,Me ?O-z(:H:s

° Watch Video Solution

5. Brvicomin, the aggregation pheromone of the western pine bark beetle,
contains a bicylic bridged ring system. Brevicomin is prepared by the acid
catalyzed cyclization of 6,7-dihydroxy-2-nonanone.

(i) Suggest a structure for brevicomin.

(ii) Devise a synthesis of 6,7-dihydroxy-2-nonamone from 6-bromo-2-

hexanone. You may also use three carbon alcohols and any required


https://dl.doubtnut.com/l/_4cLe3yZDMRaB
https://dl.doubtnut.com/l/_GAANDQY60MIC

organic or inorganic reagents.

O  OH
9 Several
steps
/lL\//\/\ —_—>
Br '
OH
6,7-dihydroxy-2-nonanono
[X]
H,0’
Brevicomin

° View Text Solution

6. A compound [A] of molecular formula CyHyBr yields a compound [B]
of molecular formula Cy4H77O when reated with aqueous NaOH. On
oxidation [B] gives a ketone [C]. The vigorous oxidation of ketone gives

ethanoic acid. Dutuce the structure of A, B and C.

° Watch Video Solution



https://dl.doubtnut.com/l/_GAANDQY60MIC
https://dl.doubtnut.com/l/_mAtcmeQskJMu

7.Suggest mechanisms for the following reactions which are catalyzed by

strong base:

Ne
COMe

o Watch Video Solution

Try Yourself



https://dl.doubtnut.com/l/_6qOwo2VAT9r0

1. Give common names and IUPAC names of the following compounds.

()
) ,(”_ CH,
o {(4)1 CH
|
rio
_CHO
(1) [ l
TOCH
OH
. _CHO
() (J/
CH, O

: I i
(vi) CH-—C==CH-—-C—CH,

O CH,
[
(ix) CIl, C C  CH,
|
CH,

. o .
(i) O <Q>(” ©> o

(i) cH,CH=CH-= CHO

: I T
) SCH—C—CdHs

o) :
o
CH,

CH,CHO
cl

(xiv)

° View Text Solution



https://dl.doubtnut.com/l/_QNOJCqoGM8Jh
https://dl.doubtnut.com/l/_CG9m38VjfITo

2. Write the structures of the following compounds
(i) 4-chloropentn-2-one

(ii) p-Nitropropiophenone

(iii) 3-Methylbutanal

(iv) 4-Methylpent-3-en-2-one

(v) p-Methoxy benzaldehyde

(vi) 0,0"-Dichlorobenzophenone

(vii) Penta-1,4-dien-3-one

(viii) 2-Methyyl-4-oxohexanal

(ix) Cyclohex-2-en-1-one

( x) Pentan-2,4-dione

o Watch Video Solution

3. Give chemical equations and name the main product formed when

(i) Ethyl alcohol is mixed with air and passed over Ag catalyst at 520 K.

(ii) Benzoyl chloride is treated with lithium tri-tert-butoxy aluminium
hydride.

(iii) Isoprophlidene chloride is treated with caustic potash.


https://dl.doubtnut.com/l/_CG9m38VjfITo
https://dl.doubtnut.com/l/_Hcyxidyv0Xc6

(iv) Methylmagnesium iodide is treated with HCN and the resultant

product is hydrolysed.

° Watch Video Solution

4. What are the products formed by reductive ozonolysis of penta-1,3-

diene?

° Watch Video Solution

5. Give chemical equations for following conversions:

(i) Propanal from allyl alcohol

(
KJ U(Hfrum(H(N

CHO
| from HCN



https://dl.doubtnut.com/l/_Hcyxidyv0Xc6
https://dl.doubtnut.com/l/_2nZy4YTdKUbP
https://dl.doubtnut.com/l/_FtTrFUzb539Q

| " vvatcn Viaeo oolution )

6. Identify unknown compounds A to E in the following senes of chemical

reactions.

_CHCH,
o W(k-l) Lnﬂq ~6““) A + B

(i)
A+ BN o mo

i) O3
(iii) C L A+ D
(i) Zn | HyO
Hg/N’L
(IV)DT> FE

° Watch Video Solution

7.Complete the reaction
/ GLNaOH p ' ZniHg g

° Watch Video Solution



https://dl.doubtnut.com/l/_FtTrFUzb539Q
https://dl.doubtnut.com/l/_G32EDfAfzplo
https://dl.doubtnut.com/l/_IH49nLfRBVVg
https://dl.doubtnut.com/l/_E3C6QtMZR2Yd

8. Complete the following reactions and identify A, B and C,

Pd/ BaSO,
(i) A + Hz(g) e (CH3)2CH — CHO
Hs;C 0]
\ 'l
(i) CH; — C — C — CHy — NaOI — B+ C

|
CH,

o Watch Video Solution

9. An organic compound [A] with molecular formula C5HgO, is reduced
to n-pentane on treatment with Zn — Hg/HCI. The compound [A]
forms a dioxine with hydroxyl amine and give a positive iodoform test

and Tollen's test. Identify the compound [A] and deduce its structure?

o Watch Video Solution

10. Write reactions and conditions to bring about the following
conversions.
(i) Toluene to benzaldehyde

(ii) Calcium formate to urotropin



https://dl.doubtnut.com/l/_E3C6QtMZR2Yd
https://dl.doubtnut.com/l/_ArIa8ja8iErX
https://dl.doubtnut.com/l/_geWjtZQfBia4

I ° Watch Video Solution

11. How can we distinguish chemically the following pairs of compounds?
(i) CH3CHO and CH;COCHj;

(i) CH3CHO and C4H;CHO

(iii) Ce H;COCH3 and C4CH;COCgHj

(ivy CH3;CHO and CH3;CH,CHO

° Watch Video Solution

12. Write the various steps involved in the following conversion :

CHy,—- CH-CHy—(CHy—-0OH —- (CH;— CH-CHO
| \
CH, CH;

o Watch Video Solution

13. Give IUPAC names of the following compounds.

(i) HOOC — |C’H — CH,

OH


https://dl.doubtnut.com/l/_geWjtZQfBia4
https://dl.doubtnut.com/l/_Byiq8yokOKO0
https://dl.doubtnut.com/l/_QKsnFoJwHYZ8
https://dl.doubtnut.com/l/_VXK2cAnUs0dx

,, COOH
)y  HOOC -~ CH- -CH, - - COOH (i) 4

OH
C,H,

COOH

(i) (Q}y (iv)
; o

(vii) U’ ),C—CH,CH = CHCOOH

° Watch Video Solution

14. Complete the following reactions indicating the major product

formed.
CH
A -CN
@ -&H:O _— K.Cr,0H
“CH,
Cl:
[4

H,CH,CH,

el =


https://dl.doubtnut.com/l/_VXK2cAnUs0dx
https://dl.doubtnut.com/l/_L5lCYScOBvHd

Cl
|

(iv) CH; — |C' — Cl+ KOH —
Cl

dry ether H* /H,0
(V)C2Hs Mgl + CO; » >

o Watch Video Solution

15. A compound [A] of molecular formula CyHgyBr yields a compound [B]
of molecular formula Cy4H77O when reated with aqueous NaOH. On
oxidation [B] gives a ketone [C]. The vigorous oxidation of ketone gives

ethanoic acid. Dutuce the structure of A, B and C.

o Watch Video Solution

16. How will you preform the following conversions?
(i) Acetaldehyde to acetone

(ii) Propanone to propene

(iii) Propene to propanone

(iv) Benzaldehyde to benzophenone

(v) Benzene to acetophenone


https://dl.doubtnut.com/l/_L5lCYScOBvHd
https://dl.doubtnut.com/l/_KHKUGHruRmKt
https://dl.doubtnut.com/l/_QFkHr9zyDuBk

° Watch Video Solution

17. How will you convert benzene into

WCHzCHPCHO?

o Watch Video Solution

18. Arrange the following in decreasing order of nucleophilic addition

CH3;CHO, CH3;COCHs, HCHO, C;H;COCHj

o Watch Video Solution

19. Give suitable explanation for the following:

(i) Chloral hydrate is a geminaldiol but still stable. How?


https://dl.doubtnut.com/l/_QFkHr9zyDuBk
https://dl.doubtnut.com/l/_flWkxR5CS1aZ
https://dl.doubtnut.com/l/_c5AQDa0XTd07
https://dl.doubtnut.com/l/_UimJch5cVrZJ

CHO

(i) Out of o . S AN and
CH3;CH,CHO which is more reactive nucleophilic addition?

(iii) Why does pure HCN fail to reac with aldehydes and ketones?

(iv) Hydrazones of aldehydes and ketones are not prepared in strongly
acidic mediu. Why?

(v) Sodium bisulphite is used to purify aldehydes and ketones. Explain.

o View Text Solution

20. Hydrocarbon (X), C7Hqs, on reaction with boron hydride followed by
treatment with CH3COOH yields (A). On reductive ozonolysis (A) yields
a mixture of two aldehydes, (B) and (C ). Of these, only (B) can undergo

Cannizzaro reaction. (A) exists in two geometrical isomer, (A — 1) and


https://dl.doubtnut.com/l/_UimJch5cVrZJ
https://dl.doubtnut.com/l/_Ckf0lmEr9k3n

(A — 2), of which (A — 2) is more stable. Gives structures of (X), (A), (B),

(C),(A —1),and (A — 2) with proper reasoning.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ckf0lmEr9k3n

